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1	Introduction
In RAN4 102-e, there were discussions on the Rx beam sweeping factor for FR2-2 compared to FR2-1.
In the WF [1] the options were captured, and we copy paste the issue here to further discuss.
	Percentage of UL CP length Te can occupy for UL SCS of 480/960 kHz
· For UL SCS of 480/960 kHz, a UE is required to meet the UL timing accuracy requirements if an SSB is available in the last X ms.
· For X = 80ms
	SSB SCS
	UL SCS
	Te/CP Ratio 

	120
	480
	[0.35]

	480
	480
	[0.30]

	960
	480
	[0.25]



· For X = 40ms
	SSB SCS
	UL SCS
	Te/CP Ratio

	480
	960
	[0.40]

	960
	960
	[0.38]



· Test cases for Te requirements for FR2-2 will be designed as having statistical nature
· Option 1: The rate of UE meeting the Te requirement observed during repeated tests shall be at least [90%].


This paper discusses the issues listed above and provide our views.
2	Discussions
Statistical tests
First of all we note that it’s natural for RRM tests to be validated under a statistical meaning, and usually it’s mandated that the UE would pass the tests 90% of the time. However, as also reflected during the discussions last meeting, the core requirement on Te is already a maximum allowed value, and the UE shall theoretically meet this requirement 100% of the time given proper test configurations. In this case, having the test defined in a statistical way is equivalent to relaxing the core requirements. Te requirements pertain to critical aspects of the network and may have impact to not only one UE but the entire cell, and thus, we prefer not to have any relaxation when doing the test.
A compromise as we see is to have a higher success rate required for the UE to pass the tests, for example 95%.
The rate of UE meeting the Te requirement observed during repeated tests shall be at least 95%.
3	Conclusion
Proposal 1: The rate of UE meeting the Te requirement observed during repeated tests shall be at least 95%.
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